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NO.58 A health plan application includes a process for surgical procedure requests. Currently, there is an evaluation subprocess in

which a physician reviews the diagnosis and enters the recommended procedure and its urgency. The request then advances to a

medical director who analyzes the feedback and approves the appropriate procedure. The health care organization has created a new

requirement, which states that three physicians can perform the evaluation independently. Only two evaluations are necessary to

advance the case to the medical director.

In order to allow the three physicians to review the orders in parallel, how would you configure the process?

*  Add a Split Join shape, add a list of physicians, and call the surgical procedure request process.

*  Add a Split For Each shape, add a list of physicians, and call the evaluation process.

*  Add a Split Join shape, add a list of physicians, and call the evaluation process.

*  Add a cascading approvals shape that is called by the evaluation subprocess.

NO.59 The TGB organization structure has a Sales unit, and it belongs to a Marketing division. TGB plans to add new units for the

East, Central, and West geographical sales regions. These regional units report to the Sales unit .
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How do you configure the organizational hierarchy to support the new structure?

*  Add the regional units to the TGB organization.

*  Add a new Regional unit to the Marketing division and add the East, Central, and West regional units as child units to the

Regional unit.

*  Add the regional units to the Marketing division.

*  Add the regional units as sub-units to the Sales unit.

NO.60 What are three valid ways to exchange data through a Pega Web Mashup? (Choose three.)

*  Use an SQL call to exchange data between the mashup and hosting web page.

*  Use the data-pega-event-onpagedata attribute to configure the default value for the gadget.

*  Use a queue processor to pass updated attributes to the gadget on the hosting web page.

*  Use an action object configured as a script to perform additional actions on a web mashup gadget.

*  Use the Javascript function doAction() to set or read data values through the hosting web page.

NO.61 You are asked to create four reports .

Which report would require joining classes?

*  A list of all cases created by the operator along with the work status of each case

*  A list of all worklist assignments grouped by the operator who is performing the action

*  A list of all cases and the assigned user for each case, with child cases categorized by the case ID of the parent case

*  A list of flow actions and average turnaround time, categorized by Performer

NO.62 A form must support accessibility.

How do you enable a user to specify a date?

*  Configure a text box to allow date entry.

*  Use a calendar control that displays an entire year.

*  Use a calendar control that displays an entire month.

*  Provide separate controls for month, day, and year.

NO.63 Identify the log you examine to view performance-related issues.

*  Pega log

*  Service-PAL log

*  Alert log

*  BIX log

NO.64 A duplicate case search contains two weighted conditions in which a property value in the current case is compared to the

same property value in the existing case. After processing multiple cases that have two matching data values, duplicate case search

does not identify any duplicates.

What two approaches do you take to diagnose the cause? (Choose two.)

*  Verify that there are no more than 4 maximum weighted conditions being tested.

*  Verify that the total weights of the matching conditions match or exceed the threshold.

*  Verify that each of the basic conditions are satisfied.

*  Verify that the case type is instantiated as a temporary case so the case can be cancelled.

NO.65 What is the importance of application versioning?

*  Application versioning provides the ability to clone rules.

*  Application versioning preserves prior application versions.

*  Application versioning provides a means to organize applications by priority.
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*  Application versioning provides the ability to version data classes without impacting existing data classes.

NO.66 When creating a new ruleset version, what extra step must the system architect perform?

*  There are no extra steps if the ruleset version is up-to-date.

*  Change the decision table item numbers.

*  Lock the ruleset to prevent automatic versioning.

*  Rulesets cannot be versioned.

NO.67 Which two statements accurately describe the use of a symbolic index? (Choose two.)

*  <LAST> sets or retrieves an element value from the end of a value list or page list property.

*  <PREPEND> inserts a new element in a value list or page list property as the first element.

*  <APPEND> adds an element at a designated location in a value list or page list property.

*  <CURRENT> inserts a new element in a value list or page list property at the currently referenced index.

NO.68 You want to create a new minor version of an application ruleset to add a new feature to your application. The new feature

will be made available to users in a phased rollout.

How do you update the application to add the new ruleset version?

*  Lock and roll the existing ruleset, and update the existing application version.

*  Lock and roll the existing ruleset, and create a new application version.

*  Create a new application version and add the new ruleset version as a production ruleset.

*  Create a branch ruleset and a new application, and add the branch ruleset to the application.

NO.69 Select two reasons for organizing delegated rules in a separate, unlocked ruleset. (Choose Two)

*  A separate, unlocked ruleset is necessary because changes cannot be made to rules in a locked ruleset.

*  A separate, unlocked ruleset allows you to organize the business users responsible for managing the delegated rules.

*  A separate, unlocked ruleset allows for versioning control of the individual delegated rules in case you want to roll back changes.

*  A separate ruleset can help prevent accidental or unauthorized changes to critical elements of the application.

NO.70 A requirement states that when a case is assigned to a user for review, its work status is set to Open-Review.

Which two steps do you perform to implement this requirement? (Choose two.)

*  Add Open-Review as an allowed status on the case type record.

*  Configure a data transform to apply the Open-Review status on the appropriate assignments.

*  Apply the Open-Review status to the appropriate assignments.

*  Create a field value record for the Open-Review status.

NO.71 You have a requirement to create an email correspondence that can be reused by other applications.

In which two layers of the Enterprise Class Structure could you apply the email correspondence rule? (Choose Two)

*  Organization

*  Implementation

*  Framework

*  Division

NO.72 Your application contains the following versions of a service level named AuthorizeClaim.
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The application is being updated with a new version of the AccountManage ruleset. As part of the update, the service level is no

longer circumstanced for AccountOpen cases. The update must retain the circumstancing for the other case types in the application.

Which option do you use to reset the circumstancing for the AccountOpen case type?

*  Copy the non-circumstanced rule to the AccountOpen class and select the base rule option.

*  Make the circumstanced rules in the AccountOpen class unavailable.

*  Withdraw the circumstanced rules in the AccountOpen class.

*  Block the circumstanced rules in the AccountOpen class.

NO.73 An application has the following application rulesets:

Expenses:02-01

TGB:02-01

TGBCatalog:02-01

A rule with an Apply to : class of TGB-Expenses-Work-Reimbursement references a rule named PopulateLineltems .

The six instances of PopulateLineltems in the rules cache are shown in the following table.

 

 

Which rule is chosen by Rule Resolution?

*  TGB-Expenses.PopulateLineltems (TGBCatalog:02-01-05)

*  TGB-Expenses-Work.PopulateLineltems (TGBCatalog:02-01-05)
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*  TGB-Expenses-Work.PopulateLineltems (Expenses:02-01-05)

*  TGB-Expenses-Work.PopulateLineltems (TGBCatalog:02-01-03)

*  TGB-Expenses-Work.PopulateLineltems (Expenses:02-01-03)

*  TGB-Expenses.PopulateLineltems (Expenses:02-01-03)

NO.74 You are working on an update to an application which only affects some rules for a certain case type. The customer has

requested that a patch update the application.

How do you create the new ruleset version?

*  Use the Lock & Roll functionality to lock the current ruleset and increment the ruleset version.

*  Use the Ruleset Maintenance wizard to skim the relevant rulesets to copy the highest version of existing rules to the new version.

*  Create a branched ruleset, then copy the affected rules into the new branched ruleset.

*  Use the Ruleset Maintenance wizard to merge the existing rules in the relevant rulesets to the new version.

NO.75 To reduce training requirements for users, a company wants to utilize the existing front end of their application.

How can a third-party application use Pega Platform?

*  By using REST calls from the Pega API

*  By using database tables for staging the requests

*  By exposing third-party application services

*  By using middleware tools in application servers
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